BrEE S=1:20

Ekir—

_ BrEmEsE R (i—FL—J) Cp
fil & 1

TER S=1:10

Bk 3ZA $=1:20

FREXHES=1:20

LR el '

B & i

H—FKL—

oo °

20x338~347 x 3050~-3300

=20 |
===
; N D T 7 ]
8 "1:1(83531825]35)'.3' =
= LN - $89.1x4.0x1000
18-8-208B(BBIBZB) [T e < @ A g 13-8-208B(8B1828) [ 18-8-20BB(BR1828 = 163x3.2x1000
/V [ { T I I T { >//®/ A.N N * 4.
| 8 | 8 i) o8
3 . A‘\ “ Ay
300
|\ Re-40 L RC-40 a0 |\ Re-40
OB & (100882 1)
R £ B R T Hif | AXM | 2MEM w E
¥—a 2, 0X 338~ 347X 3050~3300 ® | 10 10 |BERE
- 8. x4 01000 ll e 1. SO, ~ROBGELL— L —RORREL,
$76.3%3.2X1000 x B 100 2. B bR RHIRENE TS,
BESFyvRTY (RO m3| 00 0.6
ayy Y- 18-8-2088 (BBISZE) ms| 6O 2.6

XFRNEORAR. HAFRRREEREREBEO L,

4101



BEER S=1:20

N\

FERN-F U )REEER Cp

# 2 H
FEE (PEXE) S=1:10

300

LR el '

B & i

H—FKL—

oo °

B PE%E mixxE S=1:20 PRE%E S=1:20
| 48-5- 2009 | 2.0 338~ 347x 3050~ 3300
| R#T-T R§5 -7 - (BB182B) - 3 U kel Réi7 -7
7 ST \’ > T 1 | = |
. s N T | — I e
$89.1X4.0x 1000 ¢ 76,3X3,2X1000 AV Yl BT —& ] T E:# ]
i iR Via— I S s s
! 1 S S S,
+ = 18—-8-20BB(BB182B) o o
|
| A1 8 PHE (HFZE) S=1:10 N G s
| \z110100x300 ETD T T
i RC—4O ////////W/ 7/, ’/
////////M 77 ‘i/
| 51.16100x 300
OB & (10041259 )
B £ ® R + & B | AXM | PWEXM # E
ek 20X 38634 X 0503500 i o |Reedw 1. WERH 1 0821, —EOBRITE L~ HOZEEW),
$90. 1X4.0X 1000 F 200 - HRE, BEAD 2. Rk Fv b OBEDHFBEEMET 3,
X $76.3X3.2X 1000 * - 109 Jo H=Kl—-nael3atsy 2.
-7 % 400 200
AR 1:3 m3 0.9 -
BESFy¥Fy RCA m3 - 0.5
EVZBERN 18-8-208B (BB182R) m3 - 2.6

NEANEORAN. XEERREEERERLBEOLE,

4102



NEANEORAN. XEERREEERERLBEOLE,

LR LiR ey -4
N o~ K —— o Nasll )
&Eﬁﬁﬁ R WTEE%J& CD B
= A =N
M E R (LrRE) PR
BKER S=1:20 IixxE S=1:20 hE%E S=1:20
Ri T K37 -7 R§i7-7
+=2.0 -
[ i | [ |
—— | ———
B3RS 689.1X 4.0 1700 o He—s ; [ e
PREIRE: $76.3x3.2x1700 | R ’ ' ' ’ '
H 4 $89.1x 4.0x 1700 ] $76.3x 3.2x 1700
NAZS o NN NAZN
T, BARE 1 0B, —EOBHBRL L —ROBBEW,
OB #® (10681259) 2. NvkFw oD FFBEEAET 3,
OB & B oR O+ B MY BAEM | RREM ¥ = do A KL-i0REBELT 3.
V—a 2. 0X 338~347 X 3050~3300 # 100 00 |B%an
i & 689, 1X4,0X 1700 x 200 - fTR&, B
676, 3X3.2X 1700 * - 100
b2 vaea % 400 20

4103



LR ey -4
\ ENE O\ Y NasllID)
%ﬁﬁgﬂﬁj] F}\4”77¥£EH§E1HIP1 _¢Dp B
= VA7
FEREYES A Frx
Oo—o0
BRmE S=1:20 ¥aH os=1:10 mELE S=1:20 PEXE S=1:20
RE7—7 & 48.6x 2.3x 2890~2995
0 4M R§T -7
§ ( I Hi ] £ H T il ]
el 3 - {8-B90RB / R Z
== g ,LiBB ZB)" ( T ] £ Hill i Wi |
_g- g 7 -_,;i_:_,_-';'_ S 8  1R—B-20RB — ¢89.1x4.0x1000  15_g_ogRB — 676.3x3.2x 1000
(BB1B2B) Sy _ S B D (BB1828) (BB182B)
y/w A: .. g | IR “ = " B 3
AHN o4 - i " _
i ) ' 300 ) N
A RC—40 30 RC-40 o RC—40
R (10085Y)
# B £ ® R T+ ¥ Hif RAREIW | PR ER B E
rL7 $48. 6X2. 3X 2800~2096— 2% # 100 100 B2
¥ & $80. 1X4.0X1000 F | a0 T |HRE B 1. BATE T OB, —EOBEIES A T—BORBEW),
$76.3X3.2X1000 * - 100 2. RIvbFw b @D T I EEBET 3,
K —7 " o 200 3 fi- KA JORBREBET 3,
BEIFov¥T RC-40 m3 0.9 0.6
avi Y=t 18-8-20BB (BB1S2B) m3 (%] 2.6

XRNEOBAE. NARABEERERNTBROLL,

4104



N

12 H

SRS N TEEEEEP 1Py

PRER%E S=1:20

LR el '

B &

W= AT

o——-o0

30D
. f\i
AN

N\
\\\\

B1, WBEER1.08L 1, —EomER &S T HoRBER VT,

ERER S=1:20 ¥ElR S=1:10 hxxE S=1:20
arz-d R
[ EE N P S A
5 e e A
| db AT 7 >>‘_|/./ 77 v =
8 g \ERI6100X300 8
17 A .
8™ s AV
#1.16100x300 / B '
i
2. f-KALFOBIERBLT 5,
R # (10082 9)
B £ ® R + & Bir @ AXM | FMEM w =
M7 48, 6X2, 3X 2800~2996—24& # 100 100 BIEST
¥ B $80. 1X4.0X1000 X 200 B B, RIS
¢ 76. 3X3.2X1000 x - 100 B
-7 % 600 300

XFRNEORAR. HAFRRREEREREBEO L,

Fro7

2bhyn-

Xy b

—
 —

L
$48.8

|

B.2

4105



7L AN
’ %ﬁ Fﬂ4jﬁﬁﬁ lF” Pp B
?‘ﬁff// (LPxE Al A4
N O—O
BEER S=1:20 mERE S=1: PERE S=1:20
AT BT 7
AT o ( 41 3
O ,% ( H :/! 3
g5 - L4 $89.1x4,0x1700 Ll $76.3x3.2x 1700
NS s NS NAZS
1. WATE 1.0, —E0f@FEIE N T HDRBZ W),
OB #® (10681259) 2. RbFw hOEHFFISEENET 3,
OB 4 B oR O+ B AR PSS 3 MG B A ¥ = do N KA TORBEERLY 3,
L7 $48. 6X2. 3X 2890~-2095— 24 # 100 100 BT
i & 689, 1X4,0X 1700 X 200 - fTR&, B
676, 3%3.2X 1700 x - 100
77 % 400 20

NEANEORAN. XEERREEERERLBEOLE,

4106



SEAT I/ RERER (A TH)

BN EE S=1:20

H1Z A
17 m B S=1:20
3000 3,000
$42.1x23
4
/ \ / 2
\ /L \$272x18 \ §J
]
605x3.2
IS
B E # (100413 B)
H O A B R + E B BExXER | THXR # R
Pt v 2.3X 500X 2830 & 100 100 R (790}
¥ B $60.5X3. 2X1200 x 200 100 #es (F590)
FH7—7 B 400 200
BEISovrFr  [RC-40 m3 0.9 0.5
ayP =} 18-8-208B (BB187B) m3 7.0 3.5

=
e
18-8-20B3(BB1828) i
NT )
Oi RC-40

4107



N

FERN - RN A TS
Gp—Cp—2E

HURS=1/30

2000

Ees=1/15

M14x 70

e
( u
&

M16x 140

AYF=2U=T7

e

_?_

$114.3

BABISTy bs=1/4

PEITEBs=1/15 HBIWA B s=1/15

M16x 140 M16x 140 4— 16X 228R
2—-416 a
N © X ]
4 9 L@ ol 19
| — (an]
80 S 24,3 |;55E2 62_|4q| 30"
M14X 70 223.3
M16X140
R

RIVhFv hs=1/8

2114.3

18X 2281

438.6

M14x70
< 0, L
rE— ﬁiﬁﬁﬁ—
PRESBISTY bs=1/4 22
¢18 16 '7 3 ]
2-¢16 @
A |
N 1o+ 3 4 M16X 140
—- D i -

60

3.2

M
2]
b

r‘l"n

(e}

| I —

I a;Lk5 »
3

56| |24 B0 80 140

80

SR 11
B5
234 T
Gp—Cp—2E
WEMSs=1/30 o——=0
80
M16X 140
M14x 70 ( o7
3
—F /
B — it g
g~ | ©
| I
AN | NAR
O
O
| S
| N
@
/‘ S
<
©114.3x4.5 \ -
I
_I_
E-bNATs=1/15
10—¢16 b 48.6X 2.4
++'-+———%:r—-'—+————i:z:’———+-++
30 h ‘ 4QLL§9
1968 | 1968
3936

A0F-2A)-Ts=1/6

N

8— 16X 22KXK
2-016
D-b— & —bd-d+
ke
62| 62 50
264

1.0
mlx
il

4109



N

SR - RN A TS
Gp—Bp—2E

HURS=1/30

2000

Ees=1/15

M16x 140

M14x 70

e
( u
&

$114.3

e

_?_

BEEBISTY bs=1/4

AYF=2U=T7

18X 2281

438.6

60

3.2

PEITEBs=1/15 HBIWA B s=1/15 WNA Fs=1/6
M16x 140 M16x 140 416X 228R
2—-416 N
- © , =
4 9 L@ ol 19
55| m )
80 1. 24.3 Esbz 62_4Q_pa¥
M14X 70 223.3
M16X140 L_
R
v
L,{g RIVhFv hs=1/8
¢11433L_J ¢114z3L_§
M14x70
N 9 &
. @ = 1
PRESBISTY bs=1/4 22
¢18 16 f 7 3 ]
2-416 @
J VI
N 1o+ 3 4 M16X 140
T p—t A -
L 3,;\.125 — '24 ‘H’:E ‘B'
56| |24 sl 80 140 _JL; ing
80

52 22 AR
B
A T
Gp—Bp—2E
BB Ss=1/30 o—=0
80
M1E6X 140
M14x70 " seg
3
— '/
> ¥: s
K| :
MTM
I O
‘ o
M)
| N
(@
‘ S
M/ A
|
|
E-ANLTs=1/15
10—416 b 48.6X 3.2
ey
QQJJi_ ‘ 40| [[30
1968 | 1968
3936

A0F-2A)-Ts=1/6

30

8—16x 22X
2-s16 ™)
<
—P-O— & —D-d1
™
62 62 50
264

1.0
mlx
kil

4110



pagliikrae ol 1553

N

SERN - RN TR b

Cp—Ap—2E S,

Gp—Ap—2E
HUBMs=1/30 WBERs=1/30 Oo—=0
az| | 2000 | 2000 | 2000 |. 2000
M16x 165
7o 4605%x3.8 M16x 80 77
0 |
g ———————— Ee———————— — — D
== E= EE L - L
= = = = — <+ o
| — I — | — i B B
| | | | Q| — W
L1 | L n n 2 L
1] Il ] ] L |
I D)
~N|
| ¥
Ees=1/15 PEITEBs=1/15 MR s=1/15 WNA Fs=1/6 /N o
$139.8x4.5 ‘ 9
M16X 165 M16xX 165 4-1BX22ER 2
2-618 @) |
. E |
q fpee et 14 .
30.3_135932 72 |50]4Q| w ‘\‘
M1Bx 165 A16X80Q L 29 E-bNATs=1/15
] b B-418 660.5% 5.8
RN Fy bhs=1/8 . .
e — — —F— — —— —/—% — —— — 4
% 139.8 ¢ 139.8 ' "
M16x 80 40_1_150 501 40
© J‘D 1968 1968
L o == 18 8 3936
BAHISTy bs=1/4 BRSBTSy bs=1/4 24 || H ]
2-418 618 80 3 13 A2 vTs=1/6

——

18x 228 7T W " i

2\
1 ] | B—18x22E%
| § i ] _Ak%__m- L M16X165 / 2-018 3 Y
g ' 3“* - - 2 i = 98 [éo F ool |

i _u_£
60 a2 32023 i
60 130 90 . L 5 lsdsel 72| 72 |sal4g

324
90

5.0

4111




Ayvy171 2 (H=0, 8m) #E

T

UlmBES=1:

o CRER)

AW A iRk

B & A

Fyvalzyi H=0. 8m

2000 2,000 om0
1 @, 0 3 AR 650.8X12.3
Wk 650.8X12.3 ///JLﬁiﬁﬁiﬁ //rfﬂi—ﬁﬁljliLi Bt 650.8¢116 e e
6 LTy ‘h!.-
Q<§ \ C// A M8 (L)
. I ww 8 o © uM8x70
= N\ ¢4 Xy i o 2o .
g 125X50 o \@ 3 g T MBX55
__‘il 7;:__ol 8 | L
% B of J 77N O M8x25
= 638.1xt1.6 3 .
CkRELA) ¢ SR ML B b BRI THET 5,
JUgU-hJOy? Z
180X 180X 450 —
180 180_ RC-40 180
D HEREBIzAVE @ ELBI3AVh ® $ENT VR ® BEROI-F-NUEK Ly Y1 B
r—‘“ 130 o
| | < » >
r b 7 o o N
+ + + 0-9.5
=== g N N, | === = qu- * 9.5x24
f Ij&l & ‘[ 120 ‘9/ [ i P — i Q
i ‘_&1 0-9.5 & ;a L il — — 1" 3
| | ! 18] 100 lis 100
$51.4 $51.4 130
@ BETHI3A Vb @ PETHI3A Ut oL
’-—55—, 13 S
o e 638.1x 1.6 x4 ri
s “ 7 ) ~
o o et 0 B
- s / -+ /&
-\ / i 1,940
{ \o-95p” ’

4201




BI85 351815 B

/

E-
o S
a@%g(ﬁ
£75-h 157x80
fif #ES- N 380%x 120
| X£3.0% ~ o X% ERREROWTH
WERKELE (THEN Ay +) 5 Bl A TEE
T52L, ¢ 76.3x13.2X4,000( ~4,400)
<t 4 [ 689 1xt3.9x4.000 (~4'400) 1
S g _ BEMRLE (FHBH XY +)
(| g g
o o
80 16X 300
| 1 1/10
L P
‘ S AN1S)uF9 b ‘ : S
ARSIEG0L | L 4450 (5500 )/ g
o 18—8—-20H (H182B) ]
¢ 450 '_f
RC-40 (45000

XEWNIATOIS-IERALRVWI L,

% (
<
(

) 136 B00OERT
SROmIsOERT
1 368000 2HmDRIT

pagliikrae ol 1553

R K

¢ 600 ¢ 800

§

4301




ARERBABERN (F— A% - W - IFATD)

TR UEER S=1:60

8004

600
1

1300

50d_ 750

E

(Zm o #iT )

pagliikrae ol 1553

E OB

JSZAE (A )

8
\ )
170
MR & (1 EPT40)
) B 7 N S Bl o=
AT A BT H B I Ty A TAXIIBE (200VA) | A 1
[SWAE it gt 200V H n 1
518. 0m HIlE1. 80m
F =R =L 248SS400 X 1L STK400 7N 1
AR A2, 3mll B
B VN B V—h - LAT FH B S g e Y & 1
E =T I AT 600V VCT2. 0 mm’ 2C m 9.6
n 600V VCT2. 0 mm’ 3C I 3.3
[Py S A VVR2. Omm ALI2C I 7.0
. - 200V-10A
EAXABRWESE g g owmhpmaianos) | W]
EEAOEKEET 7 |HF-200~300 n 1
FEIRAR KR e 1
B A% ¢ 10-1500mm A 1

¥ T RN R— VR, BEEERBR VLD LTS,

4401



ZEBARER (FHT42W - FHT57W)

IS5

eEER] (7 - A% RBITHT - BT

N BB

10008/
?48.6
SLAIREIREE {
BETu U5
Q]
O
O\
¢
¢ 89.1
\
| N7
O
~N

pragliikrae ol 153

B R

B S7AE (HLAD)

¢ 89.1
T
g | i e HRH
o ™ L 18-8-70H(HIBAB) |C3-55

y L RC—-40

o 50 E2s

= —ED
Wo# E (1@s0)

- R IR i) 48

Nz {8 19 - FEENEY B 1
IVN7MERS YT | FHT42W- FHTS/W ni
£ W 3,2mm 1.%:@@%’“‘94 (HDZ55) ﬁJ:Lf &l 1

STK400 |2 %mEs X v FEisERA by
74 SCP x|
BriR Lot ]
SAER A1
Ehyfabits 100V SA 1TEME B
#aIv>07 b
3V9U-h 18—8-20H (H182B) mJ| 0.14
Btoovov3s | RC—40 md| 0.02
EUL ¢ 10-1500mm A1

¥ A 7-ARR, ERERRWLHOLT B,

4403



BRI AR RES N

xafp S=1:30

SEEESR S=1:30 S5 S=1:30
7J¢~1 10 7‘4;1 10 18—-8-20H
1K S, 3 %ﬁmazm
o . N o i O ;| a
ol O 4 —0— o S o 1 N
g9 | (H1828) & % N | 11 g
ol — ! " = :L---- ! —
) —g
$500 0500 RC-4Q
850
%d‘ ‘4
‘Iil' 3 d] -
od| i/ . 3
700 |165 500 |
Mo R (100E5 7724 0)
I JERTE || BEREE | Rl (& x| LEE
VAV D /N m 80 62 70 70
a7 J— b 18-8-208 (H1828) [m 3 15.3 12.6 13.7 13.7
BEI T YT RC-40 n 2.0 2.0 2.0 2.0

1150

350

200

800

700

an

I 450

/‘ :

. (H182B)

~_RC-40

600

Nd

e

’500 |

1050

E RO
O
LFZ S=1:30
}- 300
3 — b W\
R ceEny
o 8|l * —§-
® | . (H182B)
g— |
RC—40
6500
8 3

‘G& 350 [ 300_|

4404



pagliikrae ol 1553

/J\%EE%H\EHHT 15 K (7"5@ o 7207 % Eom

HITFHTS7W(E#R) S=1:10

1000MA \

y
)

XHEE 4500

0
[

835
i

180
§§%j

(ul
0

HAEmHAYE 3
N
{}B EI@ U (187%0)
- i it K ¥ okt ok B e
T\ NMOTABTE | 4 YA~ IREERER @
IVt rE%sYT | FHTS7W )
81: e 0480 |1 gaERAs+ (HDLS5) 0
2 (A4-18 7-h (BAZEH) | $ME48.6mm K|
70 ME3 Smm (SGP) | 26RBH 1y + Eized by
EEJEy: e 100V 3A {TBAE B 1
EZ-u4+T945-T0 | 60OV VCT2mm2-2C m|1.54
BTl Tt f] 1
Jvyy7J Akl B
BEAVE n| 2

¥ 7L, BRERRVROOLT B,

4405



A2 2L MR
V]

g ] (=T ) EE o

#]Os AT
200 R— LD

- VBT B R i E R S=1:20 «

AL

o
103 >
i
=
Okt
==l
O H->

TEF—20W1 TR ] ]
i s
I:I R S A w27
&7 i L .
= e |4 = ‘
— s " = %
E | | TP _18=8-20H(H1828) ] [TS_18-8-20H (H182B)
3 = RC—40 BB ke
4_ _ RC-40
A.6
g $400 L&J
-0 76.3, L=5500
24bJU-y THBBRAY F+ER &
LEZE O
N 10
L« 24 S
B O
e Ao ST 18-B—20H (H182B)
Wik )it e, 35 R U720 0 3 . ;O
EMBRRR- YR DH, £ = RC-40
450

4406



Q LHZEhDIES

pagliikrae ol 1553

E BRI

#HOow AT
200 R— LK@

D XHEDBE
HE R (100#AT4 1)
OB x B R T B B ¥ E
AL I NF T b 400m m ™
BEYTvvv Ty |RCHD m3 2
EVZ PR 18-8-20H (H182B) m3 8.5
mE FL-20§ 1] 100
o $76.0m L5.5m Sk
il TR A %+ il M
RERAV K - R ¥.S 100
@ BEHOIBE
HERE (L00FRTY 1)
#H B = B % + ¥ M| % =
AL FAHFT b $400m m 70
BEY 7w Ty |RC-40 m3 1.3
ENZ R R 18-8-20H (H182B) m3 8.5
i E FL-20§ & 100
- o7.5m L[5.5n O
i THERR v+ 3% all B
BERARSF W= & 100

ik (100857575 )
OB % ¥ R T B Hir| & 2
LEFay2 2508 & 100
ARLFNEY b ¢ 400mm m 50
BLIFovy Ty R4 m3 L3
ayyJ—p 18-8-20H (R1828) m3 1.6
EAY N 1:3 m3 0.3
B R m2 38
TR FL-20V ] 100
vt O TR x| w
BRAEAVE T—n A x 100
B 15 T
HEX 100E7ATE H)
I B ok OB Hif %R
AcCHET il (AA) F5em m2 4.2

4407



pagliikrae ol 1553

E BRI

HRTETIRIT (B2 B FE T

20W 285K

R
TR F—.20W1 TR
» St
BNV
H@E (100/FrL 1)
I " B R + E Hr| & B
i A FL-208 ] 100
) e BREAVF | ¥ S 100
LO|
<
<>/—\ i
o

4408



BT CEFAT S2W,42WRT 5 1 T) HER

A VTR T (RS B

|
a FHT32We 7213
! FHT42W
| BHAABNIE
5 Bt il
T
1] =
LO)|
<
i S
; 0
i L=
28
R-L976.3, L=6000 |!
A b oYU TP Ay F+2E |)
t=2.8
b
L i
N

Mt VR, ZREERWLHOLT B,
X&AK, KF-1085-32
KF-1085-42

BrE R S=1:20

E
O AT
32WA2Y #- VRO

18-8-20H (H1828B)

et Q) HEd
o el g SRRy
3 o 4 R
'.4'-,. A\\ a—&—z H(H aZB) 8 - :
A RC-40 5400
- 4400
#500
LIZ2F @
100
g : K o
g
74
18-8-20H (H1828) /]
Re—40 K =

|_esn |

4409



BIEH (30W,A2WEE 54T ) #EH

BTREAT
32W, 427 (3£28)

HIT32W- 42W (%) s=1:10

1000MHA

JTE FHT32Wxru
FHT42W
B8ha & MR

o
| 3 T (1 % )
b MR I S Hipr| g
R Mo o% R BT R IR R (ADCE2IFAC) | A |
K\\//@\/ a8 Na 6T 7 |FHT32EX FHT42EX (] 1
0 5 0 2 YR w1
Ol/\ B o7 PAY-7T0 [600V VCT2.0 mm® 2C m| 134
SR O Wi TR it ¥ 1
: [A4—18] Bt o
170

4410



LR el '

JUIN-SAMEER (20TH) S=1:10 Sy =51 b

2 4
300
130, B
P 0 FVW
:: :: : : 100 : ELNV(1:3)
3 N e )it
gliﬁglﬂ:ﬁi T " |———| " . 4| | yi) 4 : 7 //// / //// "/ //// 7
Al I Eia I - (. N .
wEIv> 9 Jﬂ I = I g8 |<7 | a | a9 A
Y o S
T C | FoAd ], .
it ¢101.6Xt4.2x 6000 ! I I S 18—&—}2 H{maza‘S Q< 16-8-P20H{ H1826)
cREEBTRE || ! ! P 3 o
' HA] I N RS I [ 4
] | —— el L) S L )
By 22 H = P < |
216x 160~ 100 T g I I 24 : T
d o 370 R = 3
i 20 oy 3 % RC_4D % 3 RC-40 (%
— |
|
BRESY ) Ei] L 6500 4500
| ™ | |
‘ /1 H |
S —H “EE'_ '
| Palm i
|
. ] mms (L0034 b)
| | B o4 B R T & Bir| B | LBH
N
,iq ik : | BEY FuveFy R4 m3| 20 2.0
AR i Loy avyY—h 18-8-200 (HIBZE) ms| 132 1.7
& | /
| s OO iﬁﬁ# i RLGAFIN | $500 m| 70 62
i FYrh—54 b 247 8| 10 100

4601




450

_ SiEMEER (FEE)S=1:20

Ui E
1056
1000
- ~f£ 0 JJT L -55X55K4
F /
DLESH :
6 3.2X50mm
L PL-100¥45 2 g _
L-50xs0x4 [l =
. = .
Y% 2 s
N £iToyy
BEITYvTy

LR el [T

B R

M BE

o-——-0

HBE (10%% 1)
O B R T % i %
=l & b1 10
BEZ?TyvxTy  |[RCA40 m3 0.12
EfT vy 250X 260 X460 1 2
ENFN 1:3 m3 0.14

4703-1



